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1	
Which	among	the	following	countries	was	the	earliest	to	give	
women	the	right	to	vote?	 c)	 New	

Zealand	

	
a)Iceland		 b)India	 	 c)	New	

Zealand		
d)	U.S.A	 	 	

2	
What	is	the	apparent	weight	of	the	person	when	the	elevator	is	
accelerating	downwards?	 	 	

	

a)Equal	to	
actual	
weight	

b)Greater	than	
actual	weight	

c)Less	than	
actual	weigh	

d)	0	
c	

Less	than	
actual	
weight	

3	
India’s	first	water	metro	was	recently	inaugurated	in	which	
state/UT?	 	 	

	
a)	Kerala	 b)	Goa	 c)	West	

Bengal	
d)	Maharashtra	 a	 Kerala	

4	
Which	operation	has	been	launched	by	the	government	to	evacuate	
Indians	from	trouble-torn	Sudan?	 	 	

	
a)Operation	
Polo	

b)Operation	
Shakti	

c)Operation	
Kaveri	

d)Operation	Durga	 c	 Operatio
n	Kaveri	

5	
Who	launched	the	world’s	largest	and	most	powerful	rocket	
“Starship’	which	resulted	in	massive	failure?	 	 	

	
a)	ISRO	 b)	European	

Space	Agency	
c)	NASA	 d)	SpaceX	 d	 SpaceX	

6	
What	is	the	name	of	the	first	cruise	ship	ever	built	in	India?			 	 MV	Ganga	

Vilas	

	

a)MV	
Jamuna	
Vilas	 	

b)	MV	Ganga	
Vilas	

c)	MV	
Godavari	Vilas		

d)MV	
Brahmaputra	Vilas	 	b)		 	

7	
Asia’s	largest	helicopter	manufacturing	facility	recently	
inaugurated	in		 	 	

	
a)Tamil	
Nadu	 	

b)	Punjab		 c)	
Maharashtra	 	

d)Karnataka	 d)		 Karnatak
a	

8	

	

Which	of	the	following	is	not	the	function	of	skin?	 	 	

a)Calcium	
production	

b)Protection	 c)Excretion	of	
waste	

d)Temperature	
regulation	 a	

Calcium	
productio
n	

9	

	

Which	of	the	following	is	not	an	award	for	Mathematics?	 	 	

a)	Noble	Prize	 b)	Field	Medal	 c)	Abel	Prize	 d)SASTRA	
Ramanujan	 a	 Noble	

Prize	
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Prize	

10	

	

A	computer	stores	its	data	in	memory	in		 	 	

a)	Decimal	
form	

b)	Hexadecimal	
form	

c)		Binary	
form	

d)	Octal	form	 c	 Binary	
form	

11	

	

Select	the	related	words.	If	Energy:	Joule,	then		 	 	

a)Axe:	Grind	 b)Resistance:	
Ohm	

c)Power:	
Ampere	

d)	Current:	
Ammeter	 b	 Resistanc

e:	Ohm	

12	

	

India’s	P	V	Sindhu	won	which	medal/position	in	the	Asian	
Championships	2022?		 c	 Bronze	
Gold	 b)	Silver	 c)		Bronze	 d)	Fourth	Place	

13	
	

Which	king	ruled	Magadha	after	the	Mauryan	dynasty?		 	 	

a)	Haryanka	
dynasty	

b)	Nanda	
Dynasty	
	

c)	Shishunag	
dynasty	
	

d)	Shunga	
Dynasty	 d	 Shunga	

Dynasty	

14	

Identify	the	error.		

He	/	has	married	/	her	/	last	month.	
	 	

	
a)	He	 b)	has	

married	
c)	her	 d)	last	

month	 b	 has	
married	

15	 Which	of	the	following	is	a	statement?	 	 	

	

a)	Open	the	
door.	

b)	Do	
your	
homewo
rk.	

c)	Switch	on	the	fan.	 d)	Two	
plus	two	
is	four.	 d	

Two	plus	
two	is	
four.	

16	 A	person	who	pretends	to	be	what	he	is	not	is	called	 	 	

	
a)Imposter	 b)	Fraud	 c)Imitator	 d)	

Imbiber	 a	 Imposter	

17	 Were	you	a	bird,	you	______________	in	the	sky.	 	 	

	

a)	would	fly	 b)	shall	
fly	

c)	should	fly	 d)	shall	
have	
flown	

a	 	would	fly	

18	

Pick	out	the	most	effective	word	from	the	given	words	to	fill	in	the	
blanks:	

I	saw	a	______	of	cows	in	the	field	
	 	

	
a)		group	
	

b)	herd	
	

c)	)	swarm	 d)flock	
b	

herd	
	

19	 Jawaharlal	spent	his	childhood	______	Anand	Bhawan.		 	 	
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	 a)at	 b)in	 c)on	 d)across	 a	 at	

20	 Word	or	phrase	which	is	most	nearly	to	the	word	Precarious	is	 	 	

	

a)	Huge		 b)	
uncertai
n	

c)	Dangerous	 d)	
valuable	 c	 Dangerou

s	

21	

Opposite	of	foremost	is	

	
	 	

	

a)	Premature	

	

b)	
Disposed	

	

c)	Unimportant	

	

d)	Mature	

	 c	 Unimport
ant	

22	
In	a	coding	system,	‘SHEEP’	is	written	as	‘GAXXR’	and	‘BLEAT’	as	
‘HPXTN’.	How	can	‘SLATE’	be	written	in	that	same	coding	system?	 	 	

	 a)	GPTXN	 b)PTGXN	 c)	GPXNT	 d)GPTNX	 d	 GPTNX	

23	
If	8th	February,	2005	was	a	Tuesday,	what	was	the	day	on	8th	
February	2004?	 	 	

	
a)	Sunday	 b)Monday	 c)Tuesday	 d)Wednes

day	 a	 Sunday	

24	 If		IMHO=JNIP;		IDK=JEL	and	SO=TP,	then	IDC=	 	 	

	 a)	JDE	 b)JCD	 c)JED	 d)JDC	 c	 JED	

25	
If	DELHI	is	coded	as	73541	and	CALCUTTA	as	82589662,	then	
CALICUT	will	be	coded	as	 	 	

	
a)	
5279431	

b)	8543691	 c)	5978013	 d)	
8251896	 d	 8251896	

26	 Let	𝐺 = {2!: 𝑟 = 0,±1,±2,⋯ }	and	′ ∗ ′	be	the	usual	multiplication	
operation.	Then		 	 	

	 a)	(𝐺,∗)	
is	not	a	
group.	

b)	(𝐺,∗)	is	a	
group	but	not	
abelian.		

c)	(𝐺,∗)	is	abelian	but	
does	not	form	a	group	

d)	(𝐺,∗)	is	
an	abelian	
group.		 d	

(𝐺,∗)	is	
an	
abelian	
group	

27	 Let	𝑈 = {1, 3, 7, 9, 11, 13, 17, 19}	be	the	group	under	the	
multiplication	modulo	20.	Which	of	the	following	is	not	a	subgroup	
of	𝑈?	

	 	

	 a)	𝐻 =
{1, 11}	

b)	𝐾 =
{1, 9, 13, 17}	

c)	𝐿 = {1, 7, 13, 19}	 d)	𝑀 =
{1, 3, 7, 9}	 c	 𝐿

= {1, 7, 13, 19}	

28	 Let	(ℤ, +)	be	a	group	of	integers	under	addition	operation,	and		
𝐻" = {2𝑛: 𝑛 ∈ ℤ}	and	𝐻# = {3𝑛: 𝑛 ∈ ℤ}.		Which	of	the	following	a	
true?	
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	 a)	𝐻" ∩
𝐻#	is	a	
subgro
up	of	
(ℤ, +).	

b)	𝐻" ∪ 𝐻#	is	a	
subgroup	of	
(ℤ, +).	

c)	𝐻"	is	a	subgroup	of	
(ℤ, +)		but	𝐻#	is	not.	

d)	Neither	
𝐻"	nor	𝐻#	
are	
subgroups	
of	(ℤ, +).	

a	

𝐻" ∩ 𝐻#	is	
a	
subgroup	
of	(ℤ, +).	

29	 The	number	of	even	permutations	of	in	a	permutations	of	𝑁	
symbols	is	always	 	 	

	 a)	"
#
𝑁	 b)	"

#
(𝑁 − 1)!	 c)	"

#
𝑁!	 d)	"

#
(𝑁 + 1)	 c	

1
2𝑁!	

30	 Let	𝑀 = ��𝑥 𝑥
𝑥 𝑥� : 𝑥 ≠ 0	is	a	real	number�	be	a	group	under	the	

operation	of	matrix	multiplication.	Then	the	identity	element	in		𝑀	
is	

	 	

	 a)
	�1 0
0 1�	

b)		

� 1 0
1/2 1/2�	

c)		�1 1
1 1�	

d)	

�1/2 1/2
1/2 1/2�	

d	 �1/2 1/2
1/2 1/2�	

31	 Let	𝐺	be	a	finite	group	of	order	𝑝	and	𝐻	is	a	non-empty	subset	of	𝐺	
of	order	𝑞	such	that	𝑞	divides	𝑝.	Then	𝐻	is	a	subgroup	of	𝐺	if		 	 	

	 a)	𝐺	is	
an	
abelian.	

b)	𝐺	is	a	cyclic	
.	

c)	Identity	elements	in	𝐺		
and	𝐻	are	different.	

d)	𝐻	is	a	
cyclic	but	𝐺	
is	not.		

b	 𝐺	is	a	
cyclic	

32	 Let	𝐺	is	a	finite	cyclic	group	of	order	𝑝,	where	𝑝	is	a	prime.	Then	the	
number	of	generators	of	𝐺		is	 	 	

	 a)	𝑝/2	 b)	(𝑝 − 1)/2	 c)	𝑝 − 1	 d)	(𝑝 +
1)/2	 c	 𝑝 − 1	

33	 A	group	(𝐺,∗)	Is	abelian	if	for	all	𝑥, 𝑦 ∈ 𝐺,		 	 	

	 a)	𝑥 ∗
𝑦 = 𝑦 ∗
𝑥	

b)	𝑥 ∗ 𝑦 = 𝑥 +
𝑦	

c)	𝑥 ∗ 𝑦 = (𝑦 + 𝑥)	 d)	𝑥 ∗ 𝑦 =
(𝑦 ∗ 𝑥) + 1	 a	 𝑥 ∗ 𝑦

= 𝑦 ∗ 𝑥	

34	 A	subgroup	𝐻	of	a	group	is	a	normal	subgroup	of	𝐺	if	for	all	𝑔 ∈ 𝐺	
and	ℎ ∈ 𝐻,		 	 	

	 a)	
ℎ$"𝑔ℎ ∈
𝐻	

b)	𝑔$"ℎ𝑔 ∈ 𝐻	 c)	ℎ$"𝑔ℎ ∈ 𝐺	 d)	𝑔$"ℎ𝑔 ∈
𝐺	 b	 𝑔$"ℎ𝑔

∈ 𝐻	

35	 A	ring	(𝑅, +, ⋅)	is	commutative	if,		for	all	𝑥, 𝑦 ∈ 𝑅,	 	 	

	 a)	𝑥 +
𝑦 = 𝑦 +
𝑥	

b)		𝑥 ⋅ 𝑦 = 𝑦 +
𝑥	

c)	𝑥 ⋅ 𝑦 = 𝑦 ⋅ 𝑥	 d)	𝑥 ⋅ 𝑦 +
𝑥 = 𝑦 ⋅ 𝑥 +
𝑦	

c	 𝑥 ⋅ 𝑦
= 𝑦 ⋅ 𝑥	

36	 Which	of	the	following	is	not	an	integral	domain?	(ℕ,ℝ, ℂ,ℚ	denote	
the	sets	of	natural	numbers,	real	numbers,	complex	numbers	and	

	 	



6 
 

rational	numbers,	respectively.)	
	 a)		

(ℕ,+,⋅)	
b)	(	ℝ, +,⋅)	 c)	(ℂ, +,⋅)	 d)	(ℚ,+,⋅)	 a	 (ℕ,+,⋅)	

37	 Which	of	the	following	is	not	true	about	a	field?	 	 		

	 a)	
Every	
field	is	
an	
integral	
domain.	

b)	Every	
integral	
domain	is	a	
field.	

c)	Every	non-zero	
element	in	a	field	has	a	
multiplicative	inverse.	

d)	Every	
field	is	a	
commutativ
e	ring.	 b	

	Every	
integral	
domain	is	
a	field.	

38	 If	for	integer		𝑎	and	𝑚,		gcd(𝑎,𝑚) = 1	and	𝑎%$" ≡ 1(𝑚𝑜𝑑	𝑚),	then		 	 	

	 a)	𝑚	is	
always	
a	prime	

b)	𝑚	is	never	
prime	

c)	𝑚	is	a	multiple	of	𝑎	
always	

d)	𝑚	may	or	
may	not	be	
a	prime.		 d	

𝑚	may	or	
may	not	
be	a	
prime.	

39	 Which	of	the	following	set	is	a	reduced	residue	system	modulo	4?	 	 	

	 a)
	{0, 4, 8, 12}	

b)		)	{5, 7}	 c)	)	{4, 5, 7, 10}	 d)	
)	{1, 2, 6, 9}	 b	 {5, 7}	

40	 The	number	of	incongruent	solutions	of	the	linear	congruence	
18𝑥 ≡ 30(𝑚𝑜𝑑	42)	is	 	 	

	 a)	1	 b)	7	 c)	6	 d)	12	 c	 6	

41	 The	value	of	𝑥	such	that	2&' ≡ 𝑥(𝑚𝑜𝑑	7)	is	 	 	

	 a)	2	 b)	4	 c)	6	 d)	8	 b	 4	

42	 If	𝑝	is	an	odd	prime,	then		 	 	

	 a)	
(𝑝 −
1) ≡
1(𝑚𝑜𝑑	𝑝)	

b)	(𝑝 − 1)! +
1 ≡ 0(𝑚𝑜𝑑	𝑝)	

c)	(𝑝 − 1)! ≡ 1(𝑚𝑜𝑑	𝑝)	 d)	
(𝑝 + 1)! ≡
1(𝑚𝑜𝑑	𝑝)	 c	 (𝑝 − 1)!

≡ 1(𝑚𝑜𝑑	𝑝)	

43	 Necessary	 condition	 to	 apply	 the	 Chinese	 Remainder	 Theorem	 to	
solve	 the	 simultaneous	congruences	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 𝑥 ≡
𝑎(𝑚𝑜𝑑	𝑀),	𝑥 ≡ 𝑏(𝑚𝑜𝑑	𝑁)	is		

	 	

	 a)	
gcd(𝑀,𝑁) =
1	

b)gcd(𝑀,𝑁) >
1	

c)	gcd(𝑎,𝑀) = gcd(𝑏, 𝑁)	 d)	
gcd(𝑎, 𝑏) =
1	

a	 gcd(𝑀,𝑁)
= 1	

44	 The	number	of	positive	integer	solution	of	the	Diophantine	
equation3𝑥 + 2𝑦 = 6	is	 	 	

	 a)	1	 b)	2	 c)	3	 d)	0	 d	 0	
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45	 Prime	numbers	of	the	form2( − 1,	where	𝑛	is	a	positive	integer,	are	
called	 	 	

	 a)	
Fermat	
primes	

b)	Merssene	
primes	

c)	Fibonacci	primes	 d)Harmonic	
primes	 b	 Merssene	

primes	

46	 Which	of	the	following	is	incorrect	about		complex	numbers?	 	 	

	 a)		
|𝑧|# =
𝑧	𝑧	

b)	|𝑧" − 𝑧#| ≥
|𝑧"| − |𝑧#|	

c)	𝑧" + 𝑧# ≤ 𝑧" + 𝑧#	
d)	 )!

)"
¡ = )!

)"
,		

𝑧# ≠ 0.	
c	 𝑧" + 𝑧#

≤ 𝑧" + 𝑧#	

47	 If	𝑧" = −1	and	𝑧# = 𝑖,	then	the	argument	of	(𝑧"𝑧#)	is	 	 	

	 a)	
−3𝜋/2	

b)	𝜋/4	 c)	– 𝜋/2	 d)	3𝜋/2	 d	 3𝜋/2	

48	 If		𝑓(𝑧) = (𝑧/	𝑧),	then	lim
*→'

𝑓(𝑧)	 	 	

	 a)	0	 b)	1	 c)−1	 d)	does	not	
exist	 d	 does	not	

exist	

49	 If	the	complex	numbers	𝑧", 𝑧#	and	𝑧,	are	in	arithmetic	progression,	
then	they	must	lie	on		 	 	

	 a)	a	
hyperb
ola	

b)	a	circle	 c)	a	straight	line	 d)	a	
parabola	 c	 a	straight	

line	

50	 If	a	function	𝑓(𝑧) = 𝑢(𝑥, 𝑦) + 𝑖𝑣(𝑥, 𝑦)	is	analytic,	then		 	 	

	 a)	
𝑢(𝑥, 𝑦)	
is	
harmon
ic	but	
𝑣(𝑥, 𝑦)	
is	not.	

b)	𝑣(𝑥, 𝑦)	is	
harmonic	but	
𝑢(𝑥, 𝑦)	is	not.	

c)	neither	𝑢(𝑥, 𝑦)	nor	
𝑣(𝑥, 𝑦)	is	harmonic.	

d)	both	
𝑢(𝑥, 𝑦)	and	
𝑣(𝑥, 𝑦)	are	
harmonic.	 d	

both	
𝑢(𝑥, 𝑦)	
and	
𝑣(𝑥, 𝑦)	
are	
harmonic.	

51	 The	value	of	𝐬𝐢𝐧( 𝐥𝐨𝐠 𝒊𝒊)	is	
b	

	

	 a)	1	 b)	−1	 c)	1 + 𝑖	 d)	1 − 𝑖	 −1	

52	 If	𝑥	is	a	real	solution	of	the	equation	(1 − 𝑖𝑥) = (1 + 𝑖𝑥)(𝑎 − 𝑖𝑏),	
then		 	 	

	 a)	𝑎# −
𝑏# = 1	

b)	𝑎# + 𝑏# = 1	 c)	𝑎# + 𝑏# = 0	 d)	𝑎# −
𝑏# = 0	 b	 𝑎# + 𝑏#

= 1	

53	 If	a	polynomial	𝑓(𝑥)	is	divided	by	a	binomial	(𝑥 − 𝐴),	then	the	
remainder	is		 	 	

	 a)		𝑓(𝐴)	 b)	𝐴 + 𝑓(𝐴)	 c)	𝑓(𝐴) − 𝐴	 d)	𝐴	 a	 𝑓(𝐴)	



8 
 

54	 If	𝛼, 𝛽, 𝛾	and	𝛿	are	roots	of	the	equation	𝑥. + 𝑥, − 16𝑥# − 4𝑥 +
48 = 0,	then	𝛼 + 𝛽 + 𝛾 + 𝛿	is	equal	to		 	 	

	 a)	1	 b)	−4	 c)	48	 d)	−1	 d	 −1	

55	 If	two	rows		or	two	columns	of	a	determinant	are	same	then	the	
value	of	the	determinant	is	always	 	 	

	 a)	0	 b)	1	 c)	2	 d)	−1	 a	 0	

56	
If	1, 𝜔	and	𝜔#	are	cube	roots	of	the	unity,	then		µ

1 𝜔 𝜔#

𝜔 𝜔# 1
𝜔# 1 𝜔

µ	is	

equal	to	
	 	

	 a)3	 b)	−1	 c)	0	 d)	1	 c	 0	

57	 The	equation	𝑥& − 𝑥. + 𝑥, − 2𝑥# − 3 = 0		has	 	 	

	 a)	no	
negativ
e	roots	

b)	all	negative	
roots	

c)	three	negative	roots	 d)	at	least	
one	
negative	
roots	

a	
no	
negative	
roots	

58	 A	square	matrix		𝑀	is	said	to	be	symmetric	if	and	only	if			 	 	

	 a)	
det(𝑀) =
|𝑀| = 0	

b)		
det(𝑀) =
|𝑀| ≠ 0	

c)	𝑀 =
(𝑡𝑟𝑎𝑛𝑠𝑝𝑜𝑠𝑒	𝑜𝑓	𝑀)	

d)	−𝑀 =
(𝑡𝑟𝑎𝑛𝑠𝑝𝑜𝑠𝑒	𝑜𝑓	𝑀)	 c	 𝑀

= (𝑡𝑟𝑎𝑛𝑠𝑝𝑜𝑠𝑒	𝑜𝑓	𝑀)	

59	 Let		(𝑋, 𝑑)	be	a	metrics	space	and	𝐴	be	a	subset	of	𝑋.	Then	a	point	
𝑥 ∈ 𝑋	is	a	limit	point	of		𝐴	if		for	any	open	sphere	𝑆!(𝑥)	centered	at	
𝑥	and	radius	𝑟 > 0,		

	 	

	 a)	
𝑆!(𝑥) ∩
𝐴 ≠ ∅	

b)	)	(𝑆!(𝑥) − {𝑥}) ∪ 𝐴 ≠ ∅	 c)	
(𝑆!(𝑥) −
{𝑥}) ∩
𝐴 ≠ ∅	

d)	(𝑆!(𝑥) −
{𝑥}) ∩ 𝐴 = ∅	 c	

(𝑆!(𝑥)
− {𝑥})
∩ 𝐴 ≠ ∅	

60	 Let		(𝑋, 𝑑)	be	a	discrete	metric	space.	Then	for	0 < 𝑟 < 1,	closed	
sphere	𝑆![𝑥']	centred	at	𝑥' ∈ 𝑋	is	

	 	

	 a)	𝑋	 b)	𝑋 − {𝑥'}	 c)	{𝑥'}	 d)	∅	 c	 {𝑥'}	

61	 In	a	metric	space,	ever	Cauchy	sequence	...	 	 	

	 a)	has	a	
converg
ent	sub	
sequenc
e	

b)	is	bounded	 c)	is	
unboun
ded	

d)	convergent.	

b	 bounded	

62	 If		𝐴, 𝐵	and	𝐶	are	mutually	exclusive	events	such	that	𝑃(𝐴) =
(3/2)𝑃(𝐵)	and	𝑃(𝐶) = (1/2)𝑃(𝐵).	Then	𝑃(𝐴)	is	_	 	 	
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(𝑃(⋅)𝑑𝑒𝑛𝑜𝑡𝑒𝑠	𝑝𝑟𝑜𝑏𝑎𝑏𝑖𝑙𝑖𝑡𝑦	𝑜𝑓	𝑎𝑛	𝑒𝑣𝑒𝑛𝑡.	)	

	 a)	4/13	 b)	3/4	 c)	12/13	 d)	13/12	 a	 4/13	

63	 If	𝐴	and	𝐵	are	independent	events,	then		 	 	

	 a)
	𝑃(𝐴 ∩
𝐵) = 0	

b)	𝑃(𝐴 ∩ 𝐵) = 𝑃(𝐴) +
𝑃(𝐵)	

c)	
𝑃(𝐴 ∩
𝐵) =
𝑃(𝐴)𝑃(𝐵)	

d)	𝑃(𝐴 ∩ 𝐵) =
1/2	 c	 𝑃(𝐴 ∩ 𝐵)

= 𝑃(𝐴)𝑃(𝐵)	

64	 The	differential	equation	 /
"0
/1"
¡
#
− /0

/1
− 𝑦, = 0	has	degree:	 	 	

	 a)0.5	 	 b)2	 	 c)3	
	
	 	

d)4	
b)		 2	

65	 The	 differential	 equation	 of	 the	 family	 of	 curves	 𝑦(𝑥) =
𝐴 cos 𝜇𝑥 + 𝐵 sin 𝜇𝑥,	 where	 𝐴	 and	 𝐵	 are	 arbitrary	 constants,	 is	
given	by	

	 	

	 a)/
"0
/1"

+ 𝜇𝑦 =
0	 	

b)/
"0
/1"

− 𝜇𝑦 = 0
	 	

c)/
"0
/1"

+
𝜇#𝑦 = 0
	 	

d)/
"0
/1"

− 𝜇#𝑦 =
0	 c)	

𝑑#𝑦
𝑑𝑥#
+ 𝜇#𝑦
= 0	

66	 Which	of	the	following	differential	equation	is	linear?	 	 	

	 a)/0
/1
+

𝑥#𝑦# = sin 𝑦	
b)/0

/1
− 𝑥#𝑦 = sin 𝑥

	 	

c)(1 +
𝑦) /0

/1
+

sin 𝑥 = 0	

d)/0
/1
+

𝑦(𝑥 + 𝑦) = 𝑥#	 b)		

/0
/1
−

𝑥#𝑦 =
sin 𝑥	 	

67	 The	differential	equation	/0
/1
+ 𝑃(𝑥)𝑦 = 𝑄(𝑥)𝑦(	is	called:	

d)	
Bernoulli’

s	
equation				

	 a)Auxiliary	
equation				

b)Euler’s	equation						c)Linear	
equation		

d)			Bernoulli’s	
equation				 	 	

68	 The	differential	equation	𝑦 = 𝑥 /0
/1
+ 𝑓  /0

/1
¡	is	known	as:	 	 	

	 a)Bernoulli’s	
equation					

b)	Clairut’s	
equation		

c)	Linear	
equation		

d)Exact	
equation	 b)		 Clairut’s	

equation	

69	 The	solution	of	the	differential	equation	 /0
/1
¡
#
− 5 /0

/1
+ 6 = 0	is	 	 	

	 a)(a)	𝑦 = 𝑥 +
𝑐	

b)𝑦# = 𝑥 + 𝑐	 c)(𝑦 − 2𝑥 −
𝑐)(𝑦 − 3𝑥 −
𝑐) = 0	

d)	 none	 of	
these		
	

c)		

(𝑦 − 2𝑥
− 𝑐)(𝑦
− 3𝑥 − 𝑐)
= 0	

70	 If	 𝑓(𝐷)𝑦 = 0,	where	𝐷 ≡ /
/1
,	 be	 a	 linear	differential	 equation	with	 	 	
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constant	coefficients,	then	its	auxiliary	equation	is		

	 a)𝑓(𝐷 −
𝑚) = 0	

b)𝑓(𝑚) = 0	 c)𝑓(𝑒%) = 0	 d)	none	of	
these	 b)		 𝑓(𝑚) = 0	

71	 The	number	system	with	base	2	is	known	as:	 	 	

	 a)Decimal	
system	
	 	

b)	Binary	system		 c)	Octal	
system	
	 	

d)	
Hexadecimal	
system	

b)	 Binary	
system	

72	 What	is	the	result	of	the	binary	addition	performed	on	the	
numbers	0010	and	0111?	 	 	

	 a)1001
	 	

b)0101	
	 	

c)	0110
	
	 	

d)	1111	
a)		 1001	

73	 The	C	language	consists	of	--------	number	of	keywords.	
	

	 	

	 a)40	 	 b)32	 	 	 c)33	
	 	

d)56		

	
b)		 32	

74	 C	programming	language	was	developed	by	 	 	

	 a)	Ken	
Thompson	
	 	

b)	Dennis	Ritchie		 c)Bill	Gates
	 	

d)	Peter	Norto	
b)			 Dennis	

Ritchie	

75	 Which	is	the	correct	way	to	declare	a	pointer?	 	 	

	 a)int_ptr;
	 	

b)	int	*ptr;	
	 	

c)	*int	ptr;
	
	 	

d)	ptr_int;	
b)		 int	*ptr;	

76	 Which	is	more	appropriate	for	reading	in	a	multi-word	string?	 	 	

	 a)printf(	)
	 	

b)	gets(	)	 	 c)	scanf(	)
	 	

d)	puts(	)			 b)		 gets(	)		

77	 The	processor	of	translating	a	source	program	into	machine	
language	is	a	function	of:	 c)		 Compiler	

	 	

	 a)Translator	
	
	 	

b)Assembler		
	 	

c)Compiler	
	 	

d)	none	of	
these	 	 	

78	 The	operator	+	in		𝑥+= 5	means	 a)		 𝑥 = 𝑥 + 5	

	 a)𝑥 = 𝑥 + 5
	 	

b)𝑥 + 5 = 𝑥	
	 	

c)𝑥 = 5 + 1
	
	 	

d)𝑥 = 5 + 5	
	 	

79	 Which	of	the	following	is	uniformly	continuous	on	[0,1]?	 	 	
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	 a)𝑓(𝑥) =
𝑥#	

b)𝑓(𝑥) = sin 𝑥#	 c)𝑓(𝑥) = 1/𝑥	 d)𝑓(𝑥) = 1
"21

	
d	

𝑓(𝑥)
=

𝑥
1 + 𝑥	

80	 The	value	of	lim
1→'

 "$345 1
,1"

¡	 	 	

	 a)	0	 b)	1/3	 c)	1/6	 d)	1/9	 c	 1/6	

81	 Which	is	an	example	of	infinitely	oscillatory	sequence?	 	 	

	 a)〈(−1)(/
𝑛〉	

b)〈(−1)(𝑛〉	 c)〈(−1)("〉	 d)〈(−1)(/𝑛#〉	 b	 〈(−1)(𝑛〉	

82	 If	𝑓(𝑥 + 1) + 𝑓(𝑥 − 1) = 2𝑓(𝑥)	and	𝑓(0) = 0,	then	𝑓(𝑛),	where	𝑛 ∈
ℕ,	is		 	 	

	 a)𝑛𝑓(1)	 b)0	 c)𝑛	 d)(𝑓(1))(	 a	 𝑛𝑓(1)	

83	 The	function	𝑓(𝑥) = sin 1/𝑥	at	x=0	has	a	 	 	

	 a)Disconti
nuity	of	
first	kind	

b)Discontinuity	
of	second	kind	

c)Mixed	
continuity	

d)Removable	
discontinuity	 b	

Discontin
uity	of	
second	
kind	

84	 The	number	of	asymptotes	of	a	curve	of	nth	degree	is	 	 	

	 a)At	least	
one	

b)At	least	𝑛	 c)At	most	𝑛	 d)At	most	1	 c	 At	most	𝑛	

85	 The	radius	of	curvature	of	the	origin,	if	y	axis	is	the	tangent	at	the	
origin,	is	given	by		 	 	

	 a)lim
1→'

1"

#0
	 b)lim

1→'

1"

0
	 c)lim

1→'

0"

1
	 d)lim

1→'

0"

#1
	 d	 lim

1→'

𝑦#

2𝑥	

86	 The	radius	of	convergence	of	the	series	∑ 𝑘(𝑥(6
(7' 	is		 	 	

	 a)	1	 b)	k	 c)	1/k	 d)(1/𝑘)(	 c	 1/k	

87	 The	nth	derivative	of	(𝑎𝑥	 + 𝑏)$"	is	 	 	

	 a)($")
#(!;#

(;12<)#$!
	 b) (!;#

(;12<)#
	 c)($")

#(!;#

(;12<)#
	 d)	0	 a	

(−1)(𝑛! 𝑎(

(𝑎𝑥 + 𝑏)(2"	

88	 If	𝑦 = 𝑎	𝑙𝑜𝑔	𝑥 + 𝑏𝑥# + 𝑥	has	its	extremum	at	𝑥 = −1	and	𝑥 = 2,	
then	 	 	

	 a)𝑎 =
2, 𝑏 =
−1/2	

b)𝑎 = 2, 𝑏 = −1	 c)𝑎 = −2, 𝑏 =
−1/2	

d)𝑎 =
	−2, 𝑏 = 1/2	 a	 𝑎 = 2, 𝑏

= −1/2	

89	 A	double	point	on	the	curve	is	a	cusp	if	tangents	are		 	 	

	 a)Real	and	
coincident	

b)Imaginary	and	
distinct	

c)Real	and	
distinct		

d)Imaginary	
and	 a	 Real	and	

coinciden
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coincident	 t	

90	 Which	of	the	following	statement	is	false?	 	 	

	 a)All	
partially	
ordered	
sets	are	
not	lattice.	

b)The	product	of	
two	lattices	is	a	
lattice.	

c)The	union	of	
two	sublattices	of	
a	lattice	is	a	
sublattice.	

d)Every	finite	
lattice	is	
complete.	

c	

The	union	
of	two	

sublattice
s	of	a	

lattice	is	a	
sublattice

.	

91	 The	dual	of	the	Boolean	expression	𝑥(𝑦=𝑧= + 𝑦𝑧)	is	 	 	

	 a)𝑥 + 𝑦 +
𝑧	

b)𝑥 + (𝑦= +
𝑧=)(𝑦 + 𝑧)	

c)𝑥 + (𝑦 +
𝑧)(𝑦 + 𝑧)	

d)𝑥 +
(𝑦= + 𝑧=) +
(𝑦 + 𝑧)	

b	
𝑥 + (𝑦=
+ 𝑧=)(𝑦
+ 𝑧)	

92	 Which	of	the	following	is	not	a	chain?	(‘/’	is	division)	 	 	

	 a)(ℤ2,/)	 b)(𝐴,/),	where	
𝐴 = {2,6,12,36}	

c)(ℤ, ≤)	 d)(ℤ2, ≤)	 a	 (ℤ2,/)	

93	 The	contrapositive	of	𝑝 ⟹ 𝑞	is	 	 	

	 a)~𝑞 ⟹
~𝑝	

b)~𝑝 ⟹ ~𝑞	 c)𝑞 ⟹ ~𝑝	 d)𝑞 ⟹ 𝑝	 a	 ~𝑞 ⟹ ~𝑝	

94	 The	number	of	solutions	of	equation	𝑥 + 𝑦 + 𝑧 = 17,	where	𝑥, 𝑦, 𝑧	
are	non	negative	integers,	is	 	 	

	 a)	171	 b)	680	 c)	136	 d)	450	 a	 171	

95	 Which	of	the	following	is	a	contradiction?	 	 	

	 a)𝑝 ⟹ 𝑞	 b)𝑝 ∧ (𝑞 ∧∼ 𝑝)	 c)𝑝 ∨ 𝑞	 d)𝑝 ∨∼ 𝑝	 b	 𝑝 ∧ (𝑞 ∧
∼ 𝑝)	

96	 The	number	of	different	Boolean	functions	of	degree	3	is		 	 	

	 a)2,	 b)2>	 c)2?	 d)3!	 c	 2?	

97	 The	minimum	number	of	students	in	a	class	which	will	ensure	that	
four	out	of	them	are	born	in	the	same	month	is	 	 	

	 a)	49	 b)	37	 c)	61	 d)	48	 b	 37	

98	 If	𝜆	is	an	eigen	value	of	a	non-singular	matrix	A,	then	eigen	value	of	
𝐴$"	is	 	 	

	 a)𝜆	 b)−𝜆	 c)−1/𝜆	 d)1/𝜆	 d	 1/𝜆	

99	 Which	of	the	following	is	not	a	subspace	of	ℝ,(ℝ)?	 	 	

	 a)
{(𝑥, 𝑦, 𝑧): 𝑥 ≥
0}	

b){(𝑥, 2𝑥, 3𝑥)}	 c)
{(𝑥, 𝑦, 𝑧): √2𝑥 =

d)
{(𝑥, 𝑦, 𝑧): 𝑥 −
2𝑦 = 𝑧 −

a	 {(𝑥, 𝑦, 𝑧): 𝑥
≥ 0}	
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√3𝑦}	 3𝑦/2}	

10
0	

For	Riemann	integrability,	continuity	is	 	 	

	 a)Necessar
y	

b)Sufficient	 c)Necessary	and	
sufficient	

d)Neither	
necessary	nor	
sufficient.	

b	
Sufficient	
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